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INTRODUCTION

This is the second of a series of three books which have been
written to replace my Comprehension and Précis Pieces, and Further
Comprehension and Précis Pieces written with R.D.S. Fielden,

In this series of reading comprehension passages, the vacabu-
lary and structures are carefully graded. The grading follows
that of the Longman Structural Readers. Book 1 of this series
covers Stages 1 and 2 of those readers; Book 2 covers Stages 2
and 3; and Book 3, Stages 4 and 5. Words outside the grading
are given at the end of each book.

In this series, the comprehension questions contain no com-
position element; the students simply have to choose between
alternatives which are supplied to them.

The series also contains grammatical exercises. The instruc-
tions for these sometimes contain words which are outside the
grading. They are therefore more suitable for class than private
use, unless the student has someone who can explain the dif-
ficult words. In a class, the teacher should explain such difficult
words to the students before asking them to do an exercise. In
nearly all the grammatical exercises, the student has to choose
between alternatives which he or she is given.

L. A. Hill
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UNIT

There is not enough petrol in the world for everybody now,
and each year there is less, so what are we going to do when
it finishes? Perhaps we will go back to horses and carriages and
bicycles.

In the Second World War, some people did not use petrol in
their cars. They made gas from wood and plants instead, and
then they put it in big bags on top of their cars. The cars did
not go fast, but it was better than nothing. But we cannot cut
down all our trees to make gas; we need them for other things
too.

Besides gas, we can also use electricity for our cars, but first
we must make the electricity! Some countries have coal, and
they make electricity with that, but we will not always have
coal. Other countries have big, strong rivers, and these turn
turbines and make electricity more easily and cheaply.

We are also able-to get power from the tides. We put turbines
in the mouth of a river. Then, when the tide comes up, it turns
the turbines, and when it runs back towards the sea, it turns
them again. And we know that the waves of the sea can also
turn turbines when they go up and down.

Which of all these things will make our electricity in the year
2000?
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UNIT 1

Exercise 1

Look at these questions. Find the tight answers. Then write the
questions and the answers:

1

When will we perhaps have to go back to horses and
cartiages?
a) When the petrol finishes. b) When the world
finishes.

What did some people carry in big bags in the last war?
a) Gas. b) Wood and planis,

Why did they do this?
a) Because the wood and plants made their cars go.
b) Because the gas made their cars go.

Why can’t we cut down all our trees to make gas?

a) Because cars do not go fast with gas. b) Because gas
is better than nothing. ¢) Because the trees are good for
other things too.

Which makes electricity more cheaply, coal or the water in
rivers? a) Coal does. b) The water in rivers does,

How can tides make electricity?
a) By putting turbines in the mouth of a river. b) By
turning turbines,

When does a tide turn a turbine?
a) Only when it comes up. b) Only when it runs back

towards the sea. ¢) When it comes up and when it runs
back.

How do waves turn turbines? _
a) By going up and down. b) By running in and then
back again.

Exercise 2
Write this story. Choose the right words each time:

Before petrol engines were used, people drove about in
(cars/carriages). In the Second World War, there was not enough
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UNIT 1

petrol, and (gas/wood) was used in (carriages/cars) instead. The
(carringes/cars) which used it went more (quickly/slowly) than
ones which used petrol, but a (fast/slow) (carringe/car) was better
than nothing. But now there (are/is) not enough (petrol/trees)
again, and people are looking for other ways to get (power/trees)
too. (Cars can go/Gns can be made) by electricity, but that has to
be made too. We can make (coal/electricity) with (coal/electricity)
but (coal/electricity) will finish one day. It is easier (and/but)
(dearer/less dear) to make electricity by using water from rivers,
from tides, or from waves.

Exercise 3

Generally speaking, we do work and we do actions, but
we take things which we can see, hear or feel; so we say:
T am doing my lessons.”, and “I am doing something to
my bicycle.”, but “I am making a cake.” “The turbines
make electricity.” and “Don’t make a noise.”

Put do, doing, did, done, make, making, or made in the correct
places below:

1 Wecan ... gas from wood and plants.

2 “Is Mrs Jones cooking? “No.” “Then what is she ... 7"
“She’s . . . a dress.”

3 “And what is Mr Jones ... 7" “He's ... some work in his
office.”

4 The children are . . . a hole in the garden.

5 “What did you ... at school yesterday?”’ “We
English.”

6 You have . . . two mistakes in this lesson.

7 “What are the children going to ... with that cat?”

“They're going to give it some food.”

8 “Are you going to . . . a fire today?” *"Yes, [ am.”




UNIT

Sally was nineteen years old. She had always lived with her
parents, but now the time had come for her to go to university
in another part of the country to study to be a doctor. Her
mother was very sad about this, and she was also afraid, be-
cause she loved her daughter very much, and she thought,
“My little girl will be alone for the first time in her life. She
won’t know anybody. There will be nobody to look after her,
and perhaps she will have trouble, or she will be very sad be-
cause she isn’t with us.”

Sally said goodbye to her father and to her cat; and promised
to telephone every week. Then her mother took her to the
university by train. When they said goodbye, her mother cried,
and on the way back home she cried again.

Then every week Sally kept her promise and telephoned.
They talked for several minutes, and Sally was always very
happy and never said that she missed her parents. Her mother
was not glad about this. She thought, “Perhaps she’s finding
the university nicer than her home.”

But then some holidays were getting near. That week, when
Sally telephoned her parents, she said, “The students who live
here were talking yesterday evening, and they said, ‘We're
very happy that we're going to return home again soon for a
few days.” ”

Sally’s mother was very glad that the students had said this.
“She must really miss us,” she thought. Then she said, “And
did you say that too?”

"Oh, yes!” Sally answered. “We all said that it's easy to
speak to our parents on the telephone every week when we're
away, but we really miss our pets!”
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UNIT 2

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1

10

Had Sally ever left her parents before she went to
university?
a) No, she had not. b) Yes, she had.

Why did Sally go to university?
a) Because it was in another part of the country.
b) Because she wanted to become a doctor.

Did her mother want her to go?
a) No, she did not. b) Yes, she did.

Why?
a) Because she wanted her to become a doctor.

b) Because she was afraid that university life in a strange
place was not a good thing for her.

Why did Sally’s mother cry in the train?
a) Because she had left Sally. b) Because she was going
home.

Was she happy after Sally telephoned?
a) No, she was not. b) Yes, she was.

Why?
a) Because Sally was not happy at university. b) Because
Sally was very happy.

Did the students want to go home for their hoh"days?
a) No, they did not. b) Yes, they did.

Why was Sally’s mother glad then?

a) Because she thought that Sally missed her parents

b) Because she thought that Sally was not going to come
home.

Did the students miss their parents?
a) No, they missed their pets. b) Yes, they missed them
very much.




UNIT 2

Exercise 2
Write this story. Choose the right words each time:

Sally went away from her (omelcountry) for the (first/second)
time when she was nineteen. Her mother (knew/thought) that
Sally was going to be (happy/unhappy) because she was not
going to have her (cai/parents) with her. Sally’s mother went to
the (station/university) with her, and when they said goodbye,
{Sally/Sally’s mother) cried. Sally (forgot/remembered) to telephone
every week. She (did not like/liked) the university very much,
and her mother was (happy/unhappy), because she thought that
Sally (did not miss/missed) her parents. Then it was time for some
holidays, and the students were happy because (their
parents/they) were going to return home. Sally's mother thought
that the (parents/students) must miss their (parents/students), but
really they missed their pets.

Exercise 3

For the differences between the did tense—the past simple
(e.g. went) and the have/has dore tense—the present perfect
(e.g. has gone), see Book 1, Unit 2. :

The had done tense—the past perfect (e.g. had gone) is
used when one action happened before another action or
point of time in the past; i.e! it is a double past, or a past
before a past.

Look at this example: _
““After Sally had gone out, her father made some tea.”

We can represent this like this:
x X X
Sally went out Father made tea The present moment

Choose the correct tense each time:

1 It is Christmas Day today. Sally (came/had come) home for her
holidays last Friday. She {had been/was) at the university for
only three months then.

2 It is January 10th today. Sally (came/had come) back to her
parents’ house on December 19th. When she (had
stayed/stayed) at her parents’ house for three weeks, she (had
gone/went) back to the university. That was two days ago.



UNIT

Derek was a little boy. He lived with his parents in a small
house in a town. They did not have a big garden.

Derek liked animals very much. One day he said to his
father, “I've got a little money, Daddy. Can | buy a pony,
please?”

But his father answered, “No, Derek, we can't have a pony
in the garden, because it's too small and we haven't got a field.
People who keep ponies in small gardens without a field are
unkind. Ponies need a lot of space.” '

Derek did not want to be unkind to a pony, so he did not
ask his father again.

But then his father got a job in another place, and he and his
family left their small house in the town and went and lived
in a bigger house in the country. It had a nice garden and a
field, and Derek was very happy.

There was a farm near their new house, and there were
horses, cows and a few sheep there. Derek went to see them
every day. He was five years old now, and he began to think
of a pony again.

"My birthday is next month,” he thought. "“Perhaps Daddy
will buy me a pony then.” After a little time, he began to talk
about ponies to his parents again.

Then his birthday came. His parents gave him a few nice
presents—but there was no pony. Derek was sad.

But then suddenly his Uncle Tom arrived. He was a farmer
—and he had a big pony with him.

Hello, Derek,” Uncle Tom said, “Happy birthday. This is
your birthday present from me and Aunt Mary.”

Derek was a little afraid, because the pony was very big. He
looked at it for a few minutes and then he said to his uncle,
“Is he for me, or am | for him?"




UNIT 3

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1

10

10

Did Derek want a pony?
a) No, he did not. b) Yes, he did.

Why didn’t his father let him buy one?
a) Because he did not have enough money. b) Because
they did not have a field.

Why did Derek not ask his father again?

a) Because he did not want to be unkind to a pony.
b) Because the pony which his father wanted was too
small.

When did Derek go and live in a bigger house?
a) When his father bought a farm. b) When his family
went and lived in the country.

- Why could Derek begin to think of a pony again then?

a) Because he had a field. b) Because he was_five years
old. .

What did he hope to get on his birthday?
a) A pony. b) A few nice presents.

Was there a pony among his nice presents from his
parents?
a) No, there was not. b) Yes, there was.

How did he get a pony for his birthday? :
a) He bought one, b) His uncle gave him one.

Why was Derek afraid then?
a) Because he did not really like ponies. b) Because the
pony was very big.

Was the pony really for Derek?
a) No, it was not. b) Yes, it was,



UNIT 3

Exercise 2
Write this story. Choose the right words each time:

Derek lived with his (father/father and mother/mother) in a town.
He wanted to have (a pony/some animals) in his garden, but the
garden was not (big/small) enough, and it did not have a
(field/small house) for an animal, so Derek’s (father/mother) did
not let him buy one. Then Derek’s (family/uncle) went to
another place. It was in (another/the) country, and it was
(hig/small) enough for a pony, (but it did not have/because it had)
a field. There were a lot of (animals/farmers) near Derek’s
house, and he often (helped/visited) them. When his birthday
came, he (asked for/hoped to get) a pony, (and/but) his parents (did
not givelgave) him one. Then his uncle came and brought him
(a/another) pony. Derek was (afraid/sad), because the pony was
(not for himlvery big).

Exercise 3

We use 1 few for people, animals or things which we can
count (e.g. @ few friends) and a litte for things which
we cannot count {(e.g. a little water).

A few and a little can be used as pronouns (e.g. "He
brought some cakes and gave me a few.” and ‘“He made
some tea and gave me a little.”), or as adjectives (e.g. “He
brought me a few cakes.” and “He gave me a little tea.”).

A few is the opposite of many, and a litte is the opposite

" of much. Both are the opposite of a lot {of).

Put a few or a little in the correct places below:
1 Derek had . .. money. He had . . . coins and . . . notes..

2 There were ... cows on the farm, and the farmer got ...
milk from them every day.

3 After . . . Hme, Derek began to visit the animals, and after
.. . days he knew all of them well.
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UNIT

football, and he had always been thin and very strong. But then
he worked in an office for many years, and he drove to work
in a car, so when he was forty, he was fat and very soft, and
he-did not wish to get fatter and softer every year.

One day one of his friends said to him, “Would you like to
be thinner, Fred?’

“Of course I would,” Mr Holland answered.

“Well,” his friend said, “stop going to your office by car, and
get a bicycle.”

Mr Holland had not ridden a bicyde for many years. “It's
very hard to learn to ride a bicycle again at your age,” his wife
said.

But it was not too hard for Mr Holland to do. He usually sat
in his living room and read the newspaper in the evening, but
he bought a bicycle for his birthday and practised riding that
every evening instead. He hoped that it would help him to get
thinner, and he got a lot of pleasure from it.

He found little roads which were not really very narrow, but
were too narrow for cars, and there he got away from the nasty
noises of the city, which were becoming too much for him. They
were not really very loud, but they were too loud for Mr
Holland.

Then he began to go to his office on his bicycle. Sometimes
all the cars stopped at a red light, and he went past them to
the front, because his bicycle was narrow. Then he was very
happy. :

Yesterday he stopped at a red light, and a man came up
behind him on another bicycle. He stopped too and said to Mr
Holland, “Have the police taken your driving licence away
too?”

12




UNIT 4

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1 Was Mr Holland fat or thin when he was young?
a) He was fat. b) He was thin.

2  Was he fat, or thin, when he was forty?
a) He was fat. b) He was thin.

3 Who told him to get a bicycle?
a) A friend did. b) His wife did.

4 Was it hard for him to learn to ride a bicycle again?
a) No, it was not. b) Yes, it was very hard.

5 When did he practise?
a) In the evening. b) On his birthday.

6 Did he enjoy riding his bicycle?
a) No, he did not. b} Yes, he did.

7 Why did he like narrow roads? a) Because they were
less noisy. b) Because they were noisier.

8 Why could he pass cars at red lights?
a) Because he did not have to stop at them. b) Because
his bicycle was narrower than the cars.

9 Had the police taken Mr Holland’s driving licence away?
a) No, they had not. b) Yes, they had. '

10 Had they taken the other man’'s away?

a) No, they had not. b) Yes, they had.

Exercise 2
Write this story. Choose the right words each time:

Mr Holland (wasfwas not) fat wheén he was young. Then he be-
came (fat/thin) and (soft/strong) because he (did not sit down
enough/sat too much). He wanted to get (fatter/thinner), and a
friend (asked/ordered/told) him not to use his car, but to go by
bicycle (as welllinstead). Mr Holland’s wife thought that it was
too (easylhard), (and/but) it (was/was not). Mr Holland learnt
quickly, (and/buf) he (did not likelenjoyed) riding in quiet places.
He began to (drive/ride) to his office (on/with) his bicycle, but
(another man/his wife) thought that he did this because the police
had (1ot given him a driving licence/taken his driving licence away).

13




UNIT 4

Exercise 3

"Too young to walk” means “so young that he/she cannot
walk”. We use “very young"” when we are not comparing
the person’s age with the ability to walk, talk or anything
else. So very just means “to a high degree or amount”, but
too means “higher than a certain degree, or more than a
certain amount”. A wall can be very low, for example; but
at the same time it can be too high for a small child to
jump over.

Put o0 or very in the correct places below:

1 This road is . . . narrow, 2 This bicycle is . . . small,
but it is not . . . narrow for ‘but it is not . . . small for
Mr Holland’s bicycle. this girl.

3 This plate is , . . hot, but. .. 4 Mr Holland couldn’t hold
Mr Holland can hold it. this plate because it was . . .
hot for him.
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UNIT

Mary Williams was a clever young lady. She lived alone and
had a very important business job in a big company. She
worked very hard in it. She was never absent, she always ar-
rived at her office early and left late, and she often took reports
home with her to read. At weekends she seldom went any-
where, and she was always working then too.

Jill Thomas was a friend of Mary’s. In fact, she was Mary's
best friend. They had gone to the same school, and both of
them were clever women, but Jill was married, and she did not
want to get a job. “I'm quite happy at home with Len,” she
always said. I don’'t want to be too busy to have fun.”

Jill and Len liked walking very much, and nearly every week-
end they went to the mountains and walked there. They also
liked dancing very much, and they often went out in the eve-
ning and danced till the early hours of the next morning. And
when they had their holidays, they climbed all the mountains
one by one and swam and sailed on a lake and danced nearly -
all the time.

One year Jill said to Mary, “Would you like to have a holiday
with us this year, Mary?” Mary was very happy, so Jill and
Mary and Len had two weeks together. Mary enjoyed her hol-
iday, but she was very tired after they had climbed all the
mountains and swum every day and danced every night.

The next summer, Jill offered to take Mary on their holiday
again.

“Thank you very much,” answered Mary, “but I'm going to
be quite honest with you: I'm sorry that I can’t come, because
I've worked a lot this year and I'm tired. But I don't need a
holiday: I need a rest!”
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UNIT 5

Exercise 1

Look at these questions, Find the right answers. Then write the
questions and the answers:

1 Was Mary a good worker?
a) Yes, she was, b} No, she was not.

2 Was Jill dlever too?
a) No, she was not. b) Yes, she was.

3 Why didn't she want to get a job? a) Because she was
clever. b) Because she wanted to be free,

4 What did Jill and Len like best? a) They liked walking
and dancing. b) They liked working,.

5 ‘What did they do when they had holidays?
a) They rested. b) They were very busy.

6 What did Jill do one year? a) She offered to take Mary
with them. b) She told Mary to come with them.

7 Did Mary accept?
a) No, she did not. b) Yes, she did.

8 How was Mary at the end of the holiday?
a) She was happy, and not tired. b) She was happy, but
tired. :

9 What did Jill ask Mary the next summer?
a) She asked her to take her and Len on a holiday.
b) She asked her to come on their holiday again.

10 Did Mary accept this time?

a) No, she did not. b) Yes, she did.

Exercise 2
Write this story. Choose the right words each time:

Mary Williams (had/worked for) a big company, and she worked
(less/more) than most people. She (never/sometines) worked on
Saturdays and Sundays as well. She had an old (school/school
friend) whose name was (Jill/Len), and who {(had a job in the same
office/did not have a job), so she was (free/too busy) to have fun
when she liked. Jill and her husband often walked in the moun-
tains (in the evening/on Saturdays and Sundays), and they often
danced for (six/fwenty-four) hours. When they had their
holidays, they also used to swim and to (sell things/sail) on a

16




UNIT 5

lake. Then one year Mary had a holiday with (her husband/Jill
and her husband). Mary (climbed and swam and danced/did not climb
or swim or dance), (and/because) she became tired. The next year,
Jill (did not want/wanted)Mary to come again, (and/but} Mary did
not want to, because she needed a (lioliday/rest).

Exercise 3

When who or which is the subject of a clause, we do not
put in another subject as well. So we say, I met a woman
who climbs mountains.” not “I met a woman who she
clitnbs mountains.”. And we say, “The horse which comes
first gets a prize.”, not “The horse which it comes first gets
a prize.”

Also, when who(m), which or that is the object, we do
not put in another object as well. So we say, “That's the
man who(m}/that I saw yesterday.”, not “That's the man
whom{m)/that [ saw him yesterday.”. And we say, ‘That's
the house which/that I used to live in.”, not “That's the
house which/that I used to live in it.”

When a verb has a clause as its object, we do not put
in another object as well. So we say, “I expected that we
would have a good time.”, not "I expected it that we
would have a good time.”.

Put he, him, she, her, it, they, them or nothing in the correct
places below:.

The woman who was Mary's best friend ... was called Jill
Thomas, and the man who ... married was called Len. The
thing that Len and Jill . . . liked most . . . was dimbing moun-
tains; and the mountains which . . . liked most . . . were not
near their home, but they went there in the summer, because
. . . had their holidays then. Len . . . always went first, because

. was stronger so . . . was easier for him; but Jill . . . was
never far behind. She and Len always hoped . . . that Mary
would come with . . ., but usually . . . stayed in the hotel and
had a rest, because . . . needed . ... So they all had the holiday
which ... Hked ....
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Mr Robinson died, and after that only Mrs Robinson lived in
their small house. She was very old.

Her son John lived with his wife and child in another street,
and he often said to his mother, “You must come and live with
us,” but she always answered, “No, I'm very happy in my little
house, and I don’t want to leave it.”"

At eight o’clock one morning the old woman telephoned her
son and said, “Please come to my house.” Then she put the
phone down.

John's wife said, “Who was that?"

“It was Mother,” he answered.

“What did she want?”

“She wants me. Perhaps she’s ill. I'll take the car and go to
work from her house.” He took his car out and drove to his
mother’s house quickly.

When the old woman opened the door, her son said,
“What's the matter, Mother?”’

“Come in,” she answered. “There's a thief in one of my
cupboards.”

“A thief in one of your cupboards?”’ said John. “When did
you find him?" .

“I heard noises in a cupboard yesterday evening,” she
answered.

“Which one?” John asked quietly. They were in the dining-
room now.

“That one,” the old woman answered.

“Why didn't you telephone me then?” John asked.

“Because it was late, and I didn’t want to trouble you,” she
answered.

18




UNIT 6

“But the thief hasn’t stayed in the cupboard all night, has

he?” asked John.

“QOh, yes, he has,” the old woman answered. “I nailed the

door up, and then I went to bed.”

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1

2

10

Did Mrs Robinson live with Mr Robinson before he died?
a) No, she did not. b) Yes, she did.

Did she live with her son and his wife and child after that?
a) No, she did not. b) Yes, she did.

Where did her son live? ‘

a) In his mother’s house. b) In another house.

Did Mrs Robinson like her house?

a) No, she did not. b) Yes, she did.

Who telephoned Mrs Robinson’s son?

a) An old woman did. b) Mrs Robinson did.

Why did she telephone him?

a) Because she was ill. b) Because there was a thief in
one of her cupboards.

Where was the cupboard?

a) In Mrs Robinson’s dining-room. b) Near Mrs Robin-
son’s door. ¢) Near Mrs Robinson’s telephone.

How did Mrs Robinson find the thief?

a) She heard him. b) She saw him.

Why didn’t she telephone her son earlier?

a) Because she was ill. b) Because she did not want to
trouble him.

Why did the thief stay in the cupboard all night?

a) Because he was ill. b) Because Mrs Robinson nailed
the door up.

Exercise 2

Write this story. Choose the right words each time:

Mrs Robinson {did not have/had) a husband. Then (hefshe) died.
Mrs Robinson had (a som/s wife and a child). She. (did not
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want/wanted) to live with (him/them), because she {liked/did not
like} her little house. One morning {fier son’s wife/Mrs Robinson)
telephoned (her/her son/hint). She wanted to see (her/him) at
(her/lis) house. Mrs Robinson’s son went there quickly
(after/before) his work. He spoke to his mother quietly, because
(he heard noises/there was a thief) in one of her cupboards. The
thief had stayed in the cupboard all night because (Mrs Robin-
son nailed the door uplit was late).

Exercise 3

When we ask questions we use who for people, and what
for animals and things. We use which for people, animals
or things when asking someone to choose from a limited
number {e.g. “Which of these three pens do you want?”
The red one, please.”), and whose when asking about the
person who owns something (e.g. “Whose is this pen?”’
“It's mine.”).

What, which and whose can be used either as pronouns
(e.g. “"What/Which/Whose is this?”’) or as adjectives (e.g.
“"What/Which/Whose book do you want?"); but who can
only be used as a pronoun (e. g- “Who is this?"”).

Put who, what, which or whose in the correct places below:

1 " .. house did the old lady live in?’ “She lived in her own
house.”

2 " .. did the old lady hear in her cupboard?”’ “‘Some
noises.”

4

. . was in the cupboard?” “The thief was.”

4 ... room was the cupboard in?’ "It was in the dining-
room."’

5 “. .. telephoned John?’ “"His mother did.”

6 . .. did she want?” “She wanted him to come to her
house.”

7 “...cardid he go to her house in?” “He went in his car.”
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While Bill was still at school, he used to earn some money by
delivering newspapers, but when he left school, he was ready
to get himself a proper job. “I'll work in a bank,” he said to
himself, “because my uncle has always worked in one.”

He went to his aunt and said, 1 think that the work is easy.
Uncle Bob can do it, so [ can.” His aunt smiled, but did not say
anything.

When Bill's uncle came home that evening, his wife told him
that Bill wanted to work in a bank, and his uncle said, “That's
a good idea, but there are no jobs in my bank just now.”

So Bill went to several other banks and asked for a job, and
in the end he got one. ""You may work here for a month,” the
manager said, “‘and if you're good enough, you can stay after
that. You'll work with Mr Unwin for the first month. He'll take
you round and train you, and report to me about you.”

Mr Unwin was one of the other clerks in the bank, and he
had been there for many years. He took Bill round the bank,
and Bill learned a lot of things from him. Some of these lessons
were not easy.

Then one day Mr Unwin gave Bill some one pound notes.
“Count these,” he ordered him. “There ought to be one
hundred there. If there aren’t, tell me. And try not to make any
mistakes.”

Bill sat down by Mr Unwin and began to count the notes. But
he was lazy, and when he had counted half of them, he became
tired. “Fifty-one, fifty-two, fifty-three,” he said, and then he
stopped, looked at Mr Unwin and pointed at the notes.

“Well,” he said, “if they're correct up to here, they’ll all be
correct, won't they?”
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UNIT 7

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1 Did Bill do any work before he left school?
a) No, he did not. b) Yes, he delivered newspapers.
c) Yes, he worked in a bank.
2 Who in his family worked in a bank?
a) His aunt. b) His father. c¢) His uncle.
3 Did Bill get a job in the same bank?
a) No, he did not. b) Yes, he did,

4 Why?

a) Because the work was not eagy. b) Because there
were no jobs there,

5 For how much time did he have to work before he could
stay?

a) For many years. b) For one month.

6 Who had to train him?

a) Mr Unwin. - b} The manager.

7 What other things did Mr Unwin have to do?

a} He had to learn a lot of things from Bill. b) He had
to report about him.

8 How did Bill find the things which he had to learn?

a) He found them easy. b) He found some of them
hard. c¢) He found them all hard.

9 Why did he have to count some one pound notes one day?
a) To be certain that there were one hundred. b) To try
not to make any mistakes.

10 Was he right when he said, “If they’re correct up to here,
they'll all be correct.”?
a) No, he was not. b) Yes, he was.

Exercise 2
Write this story, Choose the right words each time:

Bill {did not wantfwanted) to be a newspaper boy all his life, be-
cause it was (ot really/really) a proper job. He chose to work
in a bank, because he (had/had iad) an uncle who (worked/had
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UNIT 7

worked) in one. He thought that the work was (hard/not hard),
because his uncle was (not very/very) clever. His uncle thought
that Bill was (right/wrong) when he wanted to work in a bank
{(because/but) he (could/could not) get a job in his uncle’s bank.
Then Bill got a job (in another bank/there), but only for (one/the
first) month. If he was good enough, he could (confimue/stop)
after that, Mr Unwin (learned a ot from him/taught hin a lot). One
of Bill's jobs was to count some (coins/money/pieces of paper), but
he soon (became/made him) tired and he stopped.

Exercise 3

When means “at the time that”. We use it when we think

that something is definitely going to happen (e.g. “When

the door opens, I'll go in.” This means that I am certain
. that the door is going to open).

If means “perhaps it is going to happen, perhaps it is
not; on condition that it does happen” (e.g. “If the
door opens, I'll go in.” This means that I am not certain
that the door is going to open, but perhaps it will, and
then I'll go in.).

Put if or when in the correct places below:

1 The manager of the bank said to Bill, “I'm sure you will
learn everything soon. . .. you do, I'll give you a good
job.”

2 The manager said to Bill, “Perhaps you'll be good enough.
... you are, you can stay, but . . . you aren’t, you'll have
to go.”

3 Mr Unwin said to Bill, “Count these, and tell me . . . you

. finish.”

4 Mr Unwin said to Bill, *Count these and tell me . . . the
number is wrong.”

5 Mr Unwin said to Bill, “You'll definitely find some
mistakes in this. Stop . . . you do.”

6 Mr Unwin said to Bill, “You may find some mistakes in
this. Stop . . . you do.”

7 Bill said, “. .. they're correct up to here, they'll all be
correct.”
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Joe Biggs was a butcher. His shop was in a village in one of the
most beautiful parts of the south of England, and he worked
in it for many years while his father was there. Then, when his
father reached the age of 65, he stopped working in the shop,
and Joe was alone in it, 50 he had to work harder,

Joe worked five and a half days a week. His shop shut at one
o'clock on Thursdays, and it was shut the whole of Sunday.,
Saturdays were the busiest days.

Most of Joe’s meat came to his shop from the nearest town,
but sometimes he got up earlier than usual in the morning and
drove into the city to choose meat. It was cheaper there.

Joe had a big refrigerator in his shop, but he tried not to buy
too much meat at a time, and to sell it before he bought more.

One Thursday a woman came into the shop at five minutes
to one. “I'm sorry I'm late,” she said, “but some people have
just telephoned to say that they are going to come to dinner
tonight, and I need some more meat.”

Joe only had one piece of good meat in the shop. He had sald
all the others earlier in the day. He took the piece out and said
to the woman, “This is £6.50."”

“That piece is too small,” the woman answered. “Haven't
you got anything bigger?”’

Joe went into the room behind his shop, opened the
refrigerator, put the piece of meat into it, took it out again and
shut the door of the refrigerator with a lot of noise. Then he
brought the piece of meat back to the woman and said, *This
piece is bigger and more expensive. It's £8.75."

"Good,” the woman answered with a smile. “Give me both
of them, please.”
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UNIT 8

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1

2

10

Had Joe always worked alone in the shop?

a) No, he had not. b) Yes, he had.

When did he have to begin to work.alone in it?

a) When his father died. b) When his father stopped
working.

Did Joe sell meat in his shop on Thursday afternoons?

a) No, he did not. b} Yes, he did.

How did he get most of his meat?

a) He drove to the city and bought it there. b) People
brought it to his shop.

Why did a woman want meat at 12.55 on a Thursday?

a) Because she had forgotten to buy it earlier in the day.
b) Because some people had suddenly telephoned her.
Why did Joe only have one piece of good meat?

a) Because he tried not to buy too much meat at one time.
b) Because his refrigerator had broken.

Why did the woman not want that piece of meat?

a) Because it was not big enough. b) Because it was too
dear.

Did Joe bring her a different piece?

a) No, he did not. b) Yes, he did. «¢) He said he had.
What did the woman want to buy then?

a) The first piece of meat. b) The second piece of meat.
c) Both pieces of meat.

Why did Joe not give her both pieces?

a) Because he wanted one for himself. b) Because there
was only one.

Exercise 2

Write this story. Choose the right words each time:

Joe worked in his father's shop (after/before) he worked alone.
His father stopped working when (he becante old/the work became
harder). Joe sold more in his shop on (Saturdays/Sundays) than
on ather days. He did not bring (all/any) of his meat to his shop
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himself, because he was too busy. He (alwnys had too/did not
keep) much meat in his refrigerator, because he (could not/tried
to) sell it quickly. One Thursday a woman came to his shop
very (early/lnte) because she needed some meat for some visitors
(thai/the next) evening. The woman wanted a (bigger/smaller)
piece than the (only good one/ones) that Joe had, (but he did not
say/and he said) that he had not got one. He put the piece in the
refrigerator and then took (another one/if) out. He said that it
was (bigger/smaller) and (cheaper/dearer} than the first one, but
it was really (¢ bigger/n smaller/the same) piece. The woman said
that she (did not want it/wanted both pieces). -

Exercise 3

To form the comparative of a short adjective, or an adverb
which does not have -Iy, we usually add er (e.g. small,
smaller), and to form the superlative, we add est (e.g. fast,
the fastest). With some adjectives and adverbs, we also have
to change something. Look at these examples:

easy easier easiest
big bigger biggest
good better best
bad worse worst

When an adjective is long, or when an adverb has -ly,
we usually use more, most:
beautiful more beautiful most beautiful
slowly more slowly most slowly

Write these sentences. Change the words which are in brackets
into the correct comparative or superlative forms:

1 Joe's village was (beautiful) than the town. [t was
(beautiful) village in that part of England.

2 Saturdays were (busy) than Thursdays for Joe. They were
his (busy) days.

3 Meat was (cheap) in the city than in the village, but (cheap)
meat was in the London market. -

4 When Joe went to the city, he got up (early) than on most
other days, but he got up (early) on Sundays to go to the
sea.
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Joan's mother loved her very much, so she was not happy
when she married an army officer when she was twenty-one
years old and went to live in another country with her
husband.

“When am 1 going to see Joan again?” she thought. “And
how is she going to live abroad among strangers without her
mother near her?”’

Joan wrote to her parents every Sunday, and then a year
later, she had a baby. It was a girl, and she and her husband
gave it the name Kate and thought that she was the cleverest
and most beautiful child in the world.

After that, Joan’s parents received plenty of letters and post-
cards every week about Kate and all the wonderful things she
had done. There were also lots of colour photographs of the
baby, but there was never any news about Joan herself.

Joan’s mother knew that parents always thought that their
own children were special, and better than any others, and she
also knew that they photographed them all the time, so she did
not find all this news about Kate and all the photographs of her
very interesting. She wished that Joan's letters had more news
about herself and what she was doing in them. When she re-
plied to Joan's letters, she always asked about her. She wrote
two or three times: “/Are you tired after the baby? Are you rest-
ing enough? Is Fred (he was Joan’s husband) helping you?
Does anyone come in to clean your house for you? When are

you going to come home? Do you need anything? Does the

baby keep you awake at night?” and other things like that. But
Joan's replies were always about Kate, and there was never any
news about herself.

In the end Joan’s mother was rather angry, so she wrote to
Joan that she was very glad that Joan had a very clever child,
because she herself had never had one.
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UNIT 9

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1

2

10

Was Joan’s mother glad or sad when Joan married?

a) She was glad. b) She was sad.

Why?

a) Because she had to live in another country, so she was
not going to see her. b) Because she was only twenty-
one years old.

Did Joan’s mother think that her daughter needed her?
a) No, she did not. b) Yes, she did.

Who was Kate’s grandmother?

a) Joan was. b) Joan’s mother was,

Why did Joan write a lot about Kate?

a) Because she thought that she was the cleverest and
most beautiful child in the world. b) Because her mother
wanted to know about her.

Did Joan’s mother find the news about Kate Interesting?
a) No, not very. b) Yes, she did.

Who did Joan’s mother want to read about?

a) Joan. b) Kate.

What did Joan’s mother do then?

a) She asked Joan a lot of questions in her letters. b) She
did not write to Joan again.

Did Joan write the things which her mother wanted then?
a} No, she did not. b) Yes, she did.

What did her mother write then?

a) That Joan had been a clever child. b) That she had
never had a clever child.

Exercise 2

Write this story. Choose the right words each time:

(Joan/foan’s mother) married an army officer who worked
(abroad/with her husband). {Joan/Joan's mother) was sad, because
she wanted her (daughter/mother) to be near her, and because
she was afraid that life was going to be hard for Joan without
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(her/strangers). Then (Joan/Joan’'s mother) became a
(baby/grandmother). Joan often wrote to her parents about (fer-
self/her baby). Joan’s mother did not want to read about
(Jonn/Kate). She wanted to read about her (daughter/letters). She
always asked a lot of questions about (Joan/the baby) in her let-
ters, (and/but) Joan (gave/never gave) her the answers which she
wanted, so after some time, Joan’s mother wrote to Joan that
she was (a clever childfnot clever).

Exercise 3

When we change a direct statement into a reported state-
ment, we often have to make some changes, because we
have to look at things through the eyes of the person who
is making the report, and not through the eyes of the per-
son who made the statement. _

If Mr Smith wrote to Joan’s mother last month and said,
“I have seen your daughter,” and now you want to report
what Mr Smith wrote, you will say, Mr Smith wrote to
Joarn's mother that he had seen her daughter.

We often have to change pronouns (e.g. in the above
example, I became he), possessive adjectives (e.g. your
became her) and tenses (e.g. have seen became had seen).

Change these direct statements into reported ones:

1 . Joan's mother said, “We never get any news about our
daughter.”
Joan's mother said that . . . .
2 Joan's father answered, ‘““You must ask Joan about
herself.”
Joan’s father answered that . . .
3 Joan's mother said, “I do, but Joan does not send me any
news."”
Joan's mother said that . ..
4 Joar’s father said, “My mother was the same when we
were young.”
Joan's father said that . . .
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Mr Anderson lives in a big city in America, and last year he
came to England to visit the small town which his father had
come from. :

There was a big, square garden in this town, and one day,
while Mr Anderson was walking past, he stopped outside it
and looked in. There was beautiful grass in the middle of the
garden. It was green and short and soft.

A gardener was watering it, and Mr Anderson said to him,
“Good morning. Is this your garden?”

“No,” answered the gardener, “it isn’t mine, but | work
here.”

“How do people get such beautiful lawns?” Mr Anderson
asked. “Ours are never as good as this.”

The gardener stopped his work and looked at Mr Anderson.
Then he said, “You come from America, don’t you?"”

Mr Anderson answered, “Yes, but my father came from this
town.”"

“Well,” the gardener said, “it's easy to grow lawns like this.”
He asked Mr Anderson to come in, and said, “Let me tell you
about it.” :

Mr Anderson went into the garden. “My name’s Anderson,”
he said to the gardener, “Joe Anderson. What's yours?”

“My name's Gray,” the gardener answered, “Pete Gray.
Now about the lawns. First we sow our seeds; then when the
grass appears, we pull all the weeds outf; after that, we cut the
grass every week, we water it every day when the weather is
very dry during the summer season, and we sometimes roll it.”’

“Oh,” Mr Anderson answered, “that's very interesting, Pete,
And how long does it take before the lawn becomes like this?”

The gardener thought for a few moments and then
answered, “Oh, about four hundred years.”
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UNIT 10

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers: '

1 Had Mr Anderson gone from England to America?
a) No, he had not. b) Yes, he had.

9 Had his father géne from England to America?
a) No, he had not. b) Yes, he had.

3 Why did Mr Anderson like the big garden?
a) Because it was square. b) Because it had beautiful
grass.

4 Who did Mr Anderson speak to?
a) A gardener. b) People in their gardens.

5 Did the gardener understand that Mr Anderson was not
British?
a) No, he did not. b) Yes, he did.

6 Did he think that it was hard to make a beautiful garden?

~ a) No, he did not. b) Yes, he did.

7 Why did Mr Anderson go into the garden?
a) Because his father had come from there. b) Because
the gardener asked him in.

8 Does only grass come up when we sow seeds?
a) No, weeds come up too. b) Yes.

9 When do we water the grass?
a) When we cut it. b) In very dry weather.

10 ‘How many years did it take before a lawn was beautiful?
a) About four hundred years. b) A few years.

Exercise 2
Write this story. Choose the right words each time:

The English town which Mr Anderson (ived i/visited) was the
one which his father had (lived infvisited). Mr Anderson saw a
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beautiful (lawn/square) in a garden. There (was a gardenerfwere
some people) in it. Mr Anderson asked (him/them) about the
grass, and (he/they) invited Mr Anderson in. (A/The) gardener
said that it was (hard/not hard) to grow beautiful grass: first you
(see/sow) the seeds, and then you pull the (grass/weeds) out. You
often cut the grass (off/short), and you put water (in/on) it when
it (dries/needs) it. And sometimes you roll (it/on it). Then after
{n few moments/about four hundred Years) it is ready.

Exercise 3

When a possessive is an adjective, we use the forms my,
your, her, our and their (e.g. mylyouriherfouritheir books);
but when it is a pronoun, we use the forms mine, yours,
hers, ours and theirs (e.g. “These books are mine/yours/
hers/ours/theirs.”).

His is the same when it is an adjective and when it is
a pronoun (e.g. “These are his books.” and “These books
are his.”); and it has a possessive adjective, but no pos-
sessive pronoun (e.g. we can say “This is my bicycle, and
this is its bell.”, but not “This my bicycle, and this bell is
its.”),

Choose the right words each time:

“Is this (your/yours) garden?”

“No, it isn’t (my/mine). (My/Mine) garden is the next one., And
where’s (your/yours)?”

"“Oh, (our/ours) garden is in the next street. (Your/Yours) is very
pretty.”

“Thank you. Do you know Mrs Jones?”

“No."*

“(Her/Hers) garden is next to (ourfours), It's very beautiful.”
“Oh? I know Mrs Smith. (Her/Hers) is beautiful too,"

“Yes, I know it. She gets a lot of plants from {her/hers) friends.
(Their/Theirs) garden is in the country,”

32




UNIT

Ted had not seen his old friend Sam since they were at school
together. Then Ted saw Sam at a business meeting which both
men were at in a big hotel, and he went over and spoke to him.

“Hi, Sam!” Ted said happily. “How are you?”’

“I'm very well, thank you, Ted,” Sam answered, “and how
are you?”

“Not too bad, thank you,” Ted said, They sat down side by
side and began to talk.

“I've got a wife and two children now,"” Sam began.

“Well,” Ted answered, "I've got a wife and three children
myself.”

‘After half an hour, Sam said, I must go and buy myself a
toothbrush now. I left mine at home. Let’s have dinner to-
gether this evening and then we can talk more.”

“All right,” Ted answered.

They met in the restaurant of the hotel, and they both began
to talk about television.

Ted said, “I think it's very bad for people. When Iwasa
young man, we did things ourselves — we didn't just watch
other people. In the evenings, we sang songs or played music
or cards with each other, or we read the newspaper or found
ourselves something useful to do.”

Sam nodded. “Yes,” he said, “that's true, and perhaps once
a week, or once a month, we went into the town specially to
see a film in the cinema, and maybe to buy ourselves an ice
cream.”

“And now,” Ted went on, “my children watch silly films on
television almost every evening, and they don’t do the work
that their teachers give them. What will they do with them-
selves when they leave school?”

“Yes, it's very bad, isn't it?”’ Sam said. “But what can we do
about it?”

s Well,” Ted answered, ‘'I've promised myself one thing: I'm
going to sell our television set — as soon as the football season
finishes at the end of this month.”
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UNIT 11

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers: '

1

10

34

Had Ted and Sam met often since they left school?
a) No, they had not. b) Yes, they had.

Why did they meet in a big hotel?
a) Because they had both been to the same school.
b) Because they were both at the same business meeting.

Which of them has a wife now?

‘@) Neither of them. b) Both of them. ¢) Only one of

them.

Why did they want to have dinner together?
a) Because they wanted. to.talk more. b) Because they
were hungry. :

Did they like television? :
a) No, they did not. b) Yes, they did.

Why?

a) Because now people do not do things, but only watch
them on television. b) Because now people do not watch
television, but do things themselves.

Did Ted and Sam watch television when they were young?
a) No, they did not. b) Yes, they did.

Why was television bad for Ted’s and Sam’s children?
a) Because their teachers did not give them work now.
b) Because they did not do their work at home now.

What was Ted going to do about it? :
a) He was going to sell his television set. b) He was
going to buy a television set for himself only..

Why was he going to wait until the football season
finished?

a) Because his children watched football on television ail
the time. b} Because he watched football on television all
the time, '
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Exercise 2
Write this story. Choose the right words each time:

Sam and Ted went to (different schools/the same school). Then they
did not meet for {a year/some years). They were both (business-
men/hotel workers) then, They were (glad/not glad) to see each
other again, and they had dinner (togetherfwith their wives and
children). They talked about television. (Both/Neither) of them
liked it. They thought. that it made people (do things them-
selves/lazy): they (did not watch/just watched) other people doing
things. When Ted and Sam had been (bad/young) people, they
had learnt a lot, because they had (done things themselves/watched
other people). The only things which they had watched (every
day/sometimes) were (cinemas/films). But Sam's and Ted’s chil-
dren (did not work/worked) at home, they (watched television/went
to films in the cinema) instead. But Ted (also/never) watched
television. He (watched/went t0) football matches.

Exercise 3

rl’ronouns with -self/-selves have these forms: myself, your-
self, himself, herself, itself, ourselves, yourselves, themselves.
They are used instead of an object when the object is the
same person or animal as the subject (e.g. "1 saw myself
on television.” “She bought the dress for herself.”).

When the object is a different person from the subject,
we use nte, you, him, her, i, us, you and them {e.g. "l saw
you on television.” “She bought a dress for me.”). :

We can also use the -self/-selves pronouns to emphasize’
the subject (e.g. I myself saw him.” “They went there
themselves.”).

Choose the right words each time:

When Ted and Sam were young, they taught (them/themselves)
to sing. Then, when Ted had - children, he tried to teach
(themithemselves) to sing, but (theyithemselves) did not try fo learn.
Ted said, “And when I was a boy, I bought (mefmyself) a ball,
and taught (me/myself) to play football. Nobody taught

(mefmyself).”
Sam has a cat. When it saw (itfitself) in a mirror, it was afraid

of (itfitself).
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Bobby was six years old, and he went to school. There were
nineteen other little boys and girls who were in his class, and
they were all friends, so they often went to parties together,

When one of the children had a birthday, he or she invited
all the other children to come to a party, and at Christmas all the
mothers gave parties for all the children.

Bobby liked parties very much. He liked the games they
Played there—but he liked the nice food more. His favourites
were cakes,

Before a party, Bobby’s mother always asked him not to eat
too many cakes, and Bobby always answered, “Yes, Mummy,”
but he always ate all the cakes he was offered — and more if
he could get them—and sometimes he was ill.

Christmas came again, and again there were a ot of parties.
Bobby went to all of them. The last one was on January 6th.
It was two days before school began.

One evening before this party, Bobby’s mother met the lady
who had invited him and his friends, and she said to her,
"“Bobby always eats too many cakes at parties.”

“Oh, that’s all right,” the lady answered. She told Bobby’s
mother not to be afraid, because at her parties, a child could
only have three cakes—and the cakes were small!

"Oh, good!” Bobby's mother answered happily.

On January 6th, she took Bobby to the party and ieft him
there.

When the children began to eat, there were enough cakes for
every child to have three, but Bobby took four and began to eat
them.

“You can only have three cakes, Bobby!” said the lady. She
asked him to put the fourth one back on the plate.

'3

"I can't," answered Bobby. “I ate that one first.”
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UNIT 12

Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers: :

1 Were the other children in Bobby’s class boys or girls?
a) They were all girls. b) They were all boys. ¢) Some
were girls, and some were boys. o

2 Were any of the children Bobby's friends? -
a) No. b) Yes, all were. c) Yes, some were,

3 When did the children usually have parties?

a) Only at Christmas. b) Only when they had birthdays.
¢) At Christmas and when they had birthdays.

4 Which did Bobby like more, the games at parties, or the
food?

a) The food. b) The games.

5 Which kinds of food did he like most?
a) Cakes. b) Chocolates.

6 Why did his mother ask him not too eat too many cakes?
a) Because if he did, there were not enough for the other
children. b) Because he was sometimes ill afterwards.

7 What did Bobby's mother say to another lady one evening?
a) She asked her not to let Bobby eat too many cakes.
b) She.told her that Bobby always ate too many cakes.

8 What did the lady do to stop Bobby?

a) She only had small cakes. b) She only had three cakes
for each child.

9 What did Bobby do then?

a) He brought some cakes to the party. b) He took four
cakes.

10 Why couldn't he put the fourth cake back?
a) Because he had already eaten it. D) Because there
were enough cakes for every child to have three.

Exercise 2
Write this story. Choose the right words each time:

The children in Bobby’s class were often at parties (with/without)
him. Every year, {all/one of) the children invited the others to
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UNIT 12

a birthday party; and every Christmas, the children went to
(one Christinas party/twenty Christmas parties). Bobby liked (food
more than games/games more Han food), (and he liked/but he did ot
like) cakes very much. His mother (did not want/wanted) him to
eat (many/no) cakes at parties, and Bobby always
(promised/remembered) to do this, (and/but) he always ate too
(few/many) cakes, and then he was (always/sometimes) ill. One
day, Bobby's mother (asked/told) another lady about this, and
the lady said that (every/no) child at her party got three cakes,
so Bobby’s mother was (happy/sad). But at the lady’s party,
Bobby took (four/tiree) cakes, and when the lady said, “Put the
{first/Inst) one back,” he answered that he (couddn’t/needn’t) be-
cause he had (alrendy/not) eaten it. . :

Exercise 3

’;When we change a direct command into a reported com-
mand, we usually use told . . . to (e.5. Bobby’s mother
said to him, “Open the door.” Bobby’s mother told him to
open the door.).

When we change a direct request into a reported
request, we usually useasked . . . ip (e.g. Bobby'smother said
to him, “Please shut the door.” Bobby's mother asked him to

 shut the door.), ' '

When we change from a direct command or request to
a reported one, we often have to make some other
changes: (see Unit 9) (e.g. My teacher said to me, “Bring
me your book.” My teacher told me to bring her nty book.). J

Change these direct commands and requests into reported
ones:

1 Bobby’s teacher said to him, "Sit down, please.”

2 The lady said to Bobby, “Come at 3 o'clock, please.”

3 Bobby’'s mother said to him, “Don’t eat too many cakes.”
4 The lady said to Bobby, “Put one cake back, please.”
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Mr Harris used to work in Dover, but then he changed his job.
and he and his wife moved to another town. They did not have
many friends there, but they soon met a lot of interesting
people, and after-a few weeks they often went to dinner or to
parties at other people’s houses.

Then Mrs Harris said to her husband, “We've been to a lot
of other people’s houses, and now we must invite them to our
house, mustn't we?"’

“rYes, certainly,” answered her husband. A big party will be
the easiest, won't it? Then we can start fo invite people to din-
ner in small numbers next month.” ' ‘

" Go Mrs Harris said, “Yes, I'll invite all our friends here to a big
party on 5th December.” '

“How many will that be?”’ Mr Harris asked. “Don’t invite to0
many.” :

Mrs Harris was beginning to write the invitations when her
husband saw that she was writing, “Party: 6.30 10 8.30 pm.”

#That isn't very mice is it?” he said. syou're telling our
guests that they must go at 8.30.” So Mrs Harris just wrote,
#Party : 6.30 p.m.”

A lot of guests came, and they all had 2 good time, so they
did not go home at 8.30. In fact, they were still there at mid-
night when the door bell rang and a policemnan arrived. He
said, “You must stop making 2 noise, because someone has
complained.”

Mr Harris said he did not want to guarrel with the police-
man, 50 everyone went home. They were sorry to have to go.

When Mr and Mrs Harris were alone again, she said to him,
#That was a surprise, wasn't it? Who complained about the
noise?”’

o1 did,” Mr Harris answered in a tired voice.

P




Exercise 1

Look at thege Questions. Find the right answers. Thep write the
questions and the answers:

1 When did Mr ang Mrs Harris not have many friends?
a) Just after they moved to 3 new town. b) When they
were in Dover,

2 Did people invite them tg their homes after that?
a) No, they did not. b) Yes, they did.

3 Why did Mrs Harris want to invite People to her house?

5 What did Mr Harris not want his wife to dg?
a) To write the Invitations, b) To write “to 8.30” on the
invitations.
6 Did Mrs Harris change the invitations then?
a) No, she did not. b) Yes, she did.
7 Did Mr and Mrs Harris’s guests have a good time?
a) No, they did not. b) Yes, they did.
8 Did they go home at 8.307
a) Yes, all did. b) Yes, a few did. ¢) No, none did.
9 Why did they go home? '
a) Because a policeman came o stop them. b) Because
Mr Harris quarrelied with a policeman,
10 Who had complained to the police?
a) A policeman had, b) Mr Harris had.

Exercise 2

Write. this story. Choose the right words each time:

Mr Harris (usually worked Dover/worked in Dover first), but (he
and his wife lived/ihen e worked) in another town. First they (did
not kinow many/knew q lot af) People, but then a lot of people
(invited them to 1eqls and parties/went g dinner or to parties withoyt
them), so Mrs Harris (did 1ot wantfwanted) to invite them to her
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house, {and/but) her husband (said that she had tofwanted to invite
them too). Mr Harris wanted to have (a few guests at a Hne/one
big party) first, {and/but) his wife (accepted/did not accept) this.
She began to write the invitations, but then her husband
stopped her and (asked her to change them/wrote them himself),
because he (did not want/wanted) to tell the guests to (come/go
home) at 8.30. The guests were very (happy/unhappy) at the
party, but a policeman came and (sent/took) them (home/to the
police station).

Exercise 3

The commonest ways of using tag questions are when we
really want to know the answers (e.g. *This is your house,
isn't it?”") or when we just want to be polite by changing
a statement into a question, which lets the other person
say something too (e.g. “It’s cold today, isn't it?”).
If the statement is affirmative, weadd a negative tag ques-
-Hlon (e.g. “You're all right, aren’t you?”), and we probably
expect the answer “Yes”; but if the statement is negative,
we add an affirmative tag question (e.g. “You don't like
~ chocolate, do you?”), and we probably expect the answer
“No".

Put the right tag questions in the correct places below:

1 Mr and Mrs Harris moved to another town, .. .?

2 They did not have many friends, .. .?

3 Then they were often invited to dinner, .. .2

4 Mrs Harris said, “We know a lot of people now, ...7?"
5

She said, “And we've been to a lot of other people’s
houses, ...?"

Mr Harris said, “We can’t have a lot of people, .. e

7 The guests all said, ““Your house looks very nice, ...?"
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Peter was ten years old and he went to the City School. He was
very good at football, so he was in his school team. He always
played very well and bravely in practice games and in matches,
and he scored plenty of goals.

Peter's grandfather and grandmother usually came to see
him when there was a match, and they were always happy
when other people said, “Your grandson plays very well,
doesn’t he?”’

Then one day Peter said to his grandmother, “We're practis-
ing for our big match next Saturday. Our school’s going to play
against the Garden School. They have the best team in our city,
so perhaps they’ll beat us. Can you come and see the match?"’

“Oh, yes,” his grandmother answered, “your grandfather
and I will be there — and I'm certain that you'll beat the
Garden School.”

“Well, I hope we will,” Peter answered.

The match was in the park, and it began at half past two on
Saturday. The Garden School team wore orange shirts, light blue
shorts and orange socks, and Peter’s team wore dark blue and
white shirts, white shorts and dark blue socks.

In the first two minutes of the match, the Garden School boys
came very close to the City School's goal, but then the goal- -
keeper kicked the ball to Peter in the middle of the field, and
Peter ran with it and kicked it straight into the goal. All the City
School boys as well as their families were very happy to see it

After he had scored once, Peter scored twice again before
half time. Then in the second half of the match he nearly scored
another goal, but he hardly touched the ball with his foot, and
the goalkeeper caught it easily and threw it out again.

After the match, Peter's grandfather said to him, “You
missed a good chance to score a fourth goal then, Peter. If
you'd kicked the ball hard, you'd have got a goal easily. Why
did you kick it weakly?” N

“Because there were tears in the goalkeeper's eyes,” Peter
answered.

1
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Exercise 1

Look at these questions. Find the right answers. Then write the
questions and the answers:

1 Why was Peter in the school team? :
a) Because he played football very well. b) Because he
went to the City School.

2 Who were people talking about when they said, “Your
grandson plays very well.”'?
a) Peter. b) Peter’s grandfather.

3 Who was Peter's big match against?
a) The City School team. b) The Garden School team.

4 Which was the best school team in Peter’s city?

. a) The City School team. b) The Garden School team.

5 Did Peter'’s grandmother think that the Garden School
team was going to win?
a) No, she did not. b} Yes, she did.

6 Did both teams wear shorts of the same colour?
a) No, they did not. b) Yes, they did.

7 Which team nearly scored the first goal?
a) Peter's team. b) The other team.

8 And who scored the first goal?
a) Peter. b) The goalkeeper.

9 How many goals did Peter score in the match?
a)Two. b) Three.

10 Why didn't he score another goal?

a) Because he was tired and weak. b) Because he was
sorry whien the Garden School goalkeeper cried.

Exercise 2
Write this story. Choose the right words each time:

Peter (had a very good footballiwas a very good footballer). His
grandfather and grandmother usually —watiched his
(matches/practice games). The City School's (practice/big) match
was against the Garden School. The Garden School (beat/couild
beat) them. Peter's grandmother (hoped/promised) to watch the
match. The Garden School boys (nearly scored/scored) in the first
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two minutes of the match, and after that the (City/Garden)
School goalkeeper kicked the bail (badly/well), and Peter got it
{and kicked it/but it went) straight into the (City/Garden) School
goal. Peter scored (all/most of) his goals in the (first/second) half
of the match. In the second half, he almost scored again, but
(he only touched the ball with/the gonlkeeper caught) his foot,
because the goalkeeper was (crying/very weak).

Exercise 3

Usually adverbs are formed from adjectives by adding 1y,
sometimes with other changes too (e.g. beautiful, beautifully;
easy, easily). But some adverbs do not add ly.

Look at this list of some common adverbs without -ly:

better/best, early, fast, less/ieast, low, more, well,
worse/worst,

Notice the following pairs of adverbs:
hard (= in a hard way), hardly (= almost not at all)

late (= after the right time), lately (= not long ago;
recently);

‘most (= more than the others), mostly (= most times)
near (= in such a way as to get close to), nearly (= almost)

as usual (= in the same way as he/she/it usually does),
usually (= most times) :

Put Iy in the correct places below, but only where it is needed:

Peter runs very fast,... He near. .. always comes first. .. in
races. His brother Philip is not like Peter. He most. .. used to
come last. .. , but late. .. he has been doing better. . . , because

he has béen trying very hard. .. . In the Jast race, he finished
Very near. .. his brother,
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